RE

MSHEE FHE(

=

=)

&4

(B AN) (B M)
3 15 = ¥ & MEEFE B =
wEE | mye | mye 4.100,000 4,100,000( & L/ NRETT Kk
HATTh IS AR R BEREEE
2,447,250 9,789,000|##@BN & Hhigh 4 1 X BB
wWEE wWEE W% ik
o S i M. g\ H B FE RN
2,447,250 2,447,250 %i%%ﬁiﬁg@) _
. HFrm AT ERE
0 7,341,750 BEES () —
&84 &84 ai8g 594,000 0 g”ﬁ EESEFAEREEE FhE
o o o o BHe 2,099,398 2,135,809
U A BN A A 352 191787 B%
& &t 9,241,000 16,025,000
(% &) (B M)
E3 15 = ¥ & MEEFE B =
1.EEE | €& £ 70,000 70,000(& 55860
EHKE EHRE 75,000 75,000\ EHHARE
N E 145,000 145,000
INRET INRET
2. BEXE ﬁ% ﬁ% 3,000,000 3,000,000
NRZRE NRZRE
an s 400,000 400,000
FS5- F5-
RRE—% | RR8—% 600,000 600,000 |EEREER A/ N RBITEE
R & Rz &
=g 3! =% 5! 300,000 300,000
EHELSE HELSE
a o 200,000 200,000 _
BT A R R T Bl e
it FRitH 594,000 9,789,000 im
N E 5,094,000 14,289,000
3. E%iﬁﬁ 1§5§$ 1%%% 2,447,250 0 E\Fﬁ*ﬁﬂﬂﬁ@&ﬂﬁﬁfﬁ’\@g%
N E 2,447,250 0
4. FiEE | PR E e 1,554,750 1,591,000
INOEH 1,554,750 1,591,000
& 9,241,000 16,025,000




